EIA. f @ cinq fractions, ordre df:s opérations avec
parentheses

Nom: Date: Note:
1, 1.1 1 1, 3 01, 1 3 1,
Y+ )X —F+(=+ =) = — 4 (= (==Y =
((5) 3)X 5 (3 5) (5 (5) ) % c (4 5)

2 1, 33 3, 1, 1, 1
S+ (2 (D))= — =)y +=-3"+_=

(5 4) 4(5 (5)) 3 5) 5 3 3
3 2, 1.1 3, 1 2,0 1 2 1,
—H+ I+ (=+ (D))= —+(= — (= + ) =
G+ 3G+ED E+GH* =+ (G+3)

2, 2 1 1, 1.1 3 1,

(5 5) 5X4><3 ((4) 6)><3 (5 3)

3, 3 3 1 3, 12
— ¥+ - -4 = —+ )Y -(Z+ )=
(3 4) 5 4 (3 4) 2(5 5

www.snowmath.com


https://www.snowmath.com

A/ VA

cinq fractions, ordre des opérations avec

parentheses
Nom: Date: Note:
1, 1. 1 1 1, 106 3 1, 1 3 1, 47
Y+ )X =+ (=+=)Y=— —+(=))VX =—(=— =) = (———
((5) 3) 2 (3 5) 225 (5 (5)) 6 (4 5) ( 240)
2 1, 33 3, 297 5 , 1 49
—— )Y+ (=+(=2))= — 3— )Y +—- -3+ _-=(—
(5 4) 4(5 (5)) 400 ( ) 3 ( 150)
3 2, 1.1 3, 1169 269 1 2, 1 2 1, 1231
—+ )Y+ —(=+(=))= — =3— -+ (= —+(=+=-Y=—
(2 5) 3(2 (5)) 300 300 (6 (3) )% 6 (5 2) 1350
2, 2 1 _, 1103 3 1, 1.1 3 1, 1087
5- Y 4+ xx3=_""=0n" Y DY X = (2 P = (.
C=3y+sxg” 50 50 (775 37 G737 =)
3 3 3 887 7 1 3 12 1. 629
3— P+ - 4 =(——)=(-11— I (24 )= 2
( 4) 5 4 ( 80) ( 80) (3 4) 2(5 5) 720
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